
YFM20065 Snöblad

Artikelnummer: Benämning: Antal

1 YFM2006510 Snöblad 1 St
2 YFM2006505 Släpsko 2 St
3 YFM2006506 Mutter M16 4 St
4 YFM99001 Dekal 1 St
5 YFM2006507 2 St
6 YFM2006508 Sprint 20x140 2 St
7 YFM2006519 Vagnsbult M10x50 7+2 St
8 YFM2006518 Flänsmutter M10 7 St
9 YFM2006515 1 St
10 YFM2006551 Bult M16x30 3 St
11 YFM2006550 Ram Bak 1 St
12 YFM2006540 Ram Fram 1 St
13 YFM2006570 Kulkoppling 1 St
14 YFM2006561 Bult M12x30 2 St
15 YFM2006562 Låsmutter M12 2 St
16 YFM2006560 Fäste kulhandske 1 St
17 YFM2006538 Fjädersprint 10x60 3 St
18 YFM2006530 A-ram 1 St
19 YFM2006520 Svängskiva 1 St
20 YFM2006525 Fjäder 2 St
21 YFM2006526 Fjäderspännare 2 St
22 YFM2006532 Fjäder 3mm 1 St
23 YFM2006522 Bricka 21x36x3mm 1 St
24 YFM2006523 1 St
25 YFM2006521 Sprint 20x90 1 St
26 YFM2006533 R-Sprint 3,5mm 1 St
27 YFM2006531 Sprint 20x90 med ögla 1 St
(2 & 3) YFM2006590
(8,20 & 21) YFM2006595 Fjädersats

TapTite 8x16mm

Slitstål

Schackel 10mm

Släpskosats

1

8

12

11
10

9

7
64 3

2

5

2

3

19

17

13

18

14 15

16 17

21

8

20

2024

23

25
26

272217


	Tabell1

